SHER

-
(@]
I
=
P4
[0k
4w
>
87
57
>7
4
3k

1SI7 dv.L

RS SER

13714V1 ss8jwesg

TETURNT —

D=L UDAIITLYB seamless TAFLET

#E:HSSE FEWE:TICN

Tap material

Surface treatment

TYPE 4
2c,

#Dn

e |

en

L

HMBLIT DR (8c) 1CEBIFSEHMNIUEY 5 —ZRELTHOET .

@ X—F LU

B (Unit) : mm

7474 No. 226y B[R AR (mm) Dimensions gh| | 7474 No. 220} Bk fZk| FPRTE (mm) Dimensions ‘imﬁﬁl
IltemNo.| Nominal size |2c |Limit|Type| | | 2 |Ds| en|Dn| K | ek [lgwe[ [ltemNo.| Nominal size |&c |Limit|Type| | | 2 |Ds| en|Dn| K | 2k [0lgoe
02092 M2 x0.4 B|4|1]40| 9| 3|15|21]|25|5 | 4 41732 M6 x1 1C| 7 | 3|62|10| 6|24|46|45| 7 | 4
02093| M2 x0.4 B|5|1]40| 9| 3|15|21]|25|5 | 4 41733 M6 X1 1C| 8 |3 |62|10| 6|24|46|45| 7 | 4
02094, M2 x0.4 B|6|1[40| 9| 3|15|21]|25|5 | 4 41734 M6 X1 1C| 9 [ 3 |62|10| 6(|24|46/45| 7 | 4
47503| M2.3x0.4 B|4 |1 (42| 9| 3|15|24|25|5 | 4 02110 M6 x1 B|7 | 3|62|10| 6|24(46|45|7 | 4
47504 M2.3x0.4 B|5|1|42| 9| 3|15|24|25|5 | 4 02111 M6 X1 B|8|3|62|10| 6|24(46|45|7 | 4
47505 M2.3x0.4 B|6|1|42| 9| 38|15|24|25|5 | 4 02112 M6 X1 B|9|3|62|10| 6|24(46|45| 7 | 4
02095 M2.5x0.45 B|4|1|44|10| 3|16|27|25|5 | 4 41735 M6 x0.75 1C| 6 | 3 |62|10| 6|24|46|45| 7 | 4
02096 M2.5x0.45 B|5|1|44|10| 3|16|27|25|5 | 4 41736 M6 x0.75 1C| 7 | 3|62|10| 6|24|46|45| 7 | 4
02097 M2.5x0.45 B|6|1(44|10| 3|16|27|25|5 | 4 41737 M6 x0.75 1C| 8 |3 |62|10| 6|24|46|45| 7 | 4
02098| M2.6x0.45 B|4|1|44|10| 3|16[27|25| 5 | 4 41738 M6 Xx0.75 B|6 | 3|62|10| 6|24(46|45|7 | 4
02099| M2.6x0.45 B|5|1(44|10| 3|16|27|25|5 | 4 41739 M6 Xx0.75 B|7|3|62|10| 6|24(46|45|7 | 4
02100 M2.6x0.45 B|6|1|44|10| 3|16|27|25|5 | 4 41740 M6 Xx0.75 B| 8| 3|62|10| 6|24(46|45|7 | 4
41717 M3 x0.5 1C| 5| 2|46|10| 4|18|24|32| 6 | 4 41741 M7 X1 1C| 7 | 4 |65|10|6.2|26|56| 5|/ 8 | 6
41718 M3 x0.5 1C| 6| 2 |46|10| 4|18|24|32| 6 | 4 41742 M7 X1 1C| 8 | 4 |65|10|6.2|26|56| 5/ 8 | 6
41719 M3 x0.5 1C| 7 | 2 |46|10| 4|18|24|32| 6 | 4 41743 M7 x1 1C| 9 | 4 |65|10|6.2|26|56| 5|8 | 6
02101 M3 x0.5 B|5|2|46|10| 4|18|24|32| 6 | 4 41744 M7 X1 B|7 | 4|65|10|62|26|56| 5|/ 8 | 6
02102 M3 x0.5 B|6|2|46|10| 4|18|24|32| 6 | 4 41745 M7 X1 B|8|4|65|10|62|26|56| 5|/ 8| 6
02103 M3 Xx0.5 B|7|2|46|10| 4|18|24|32| 6 | 4 41746 M7 X1 B|9|4|65(10|62|26|56| 5|8 | 6
47506 M3.5x0.6 1C| 5| 2 |48|10| 4|18|26|32| 6 | 4 41747 M8 x1.25 1C| 7 |4 |70|18|6.2|30| 6] 5/ 8|6
47507 M3.5x0.6 1C| 6 | 2 |48|10| 4|18|26|32| 6 | 4 41748 M8 x1.25 1C| 8| 4|70]18|62|30| 6| 5/8 | 6
47508 M3.5x0.6 1C| 7 | 2 |48|10| 4|18|26|32| 6 | 4 41749 M8 x1.25 1C| 9 ]14|70]18|62|30| 6| 5/8 | 6
47509 M3.5x0.6 B|5|2(48|10| 4|18(26|32| 6 | 4 02113 M8 x1.25 B|7|4|70]/18|62|30| 6| 5/8 | 6
47510/ M3.5x0.6 B| 6|2 |48|10| 4|18|26|32| 6 | 4 02114 M8 x1.25 B|8|4|70|18|62|30| 6| 5/ 8| 6
47511 M3.5x0.6 B|7 |2 |48|10| 4|18|26|32| 6 | 4 02115 M8 x1.25 B|9|4|70|18|62|30| 6| 5/ 8| 6
41726 M4 x0.7 1C| B8 | 2 |52|10| 5|20| 3| 4|7 | 4 41750 M8 X1 1C| 7 | 4 |70|18|62|30| 6| 5/ 8| 6
41727 M4 x0.7 1C| 7 |2 |52|10| 5/20| 3| 4|7 | 4 41751 M8 X1 1C| 8 4|70]18|62|30| 6] 5/8 |6
41728 M4 x0.7 1C| 8| 2 |52|10| 5/20| 3| 4|7 | 4 41752 M8 X1 1C| 914 |70]18|62|30| 6] 5/8 |6
02104 M4 x0.7 B|6|2|52|10| 5/20| 3| 4|7 | 4 41533 M8 X1 B|7 ] 4|70]/18|62|30| 6| 5/8 |6
02105 M4 x0.7 B|7 |2 |52|10| 5|20| 3| 4|7 | 4 41753 M8 x1 B|8|4|70(18|62|30| 6| 5|8 |6
02106 M4 x0.7 B|8|2|52|10| 5/20| 3| 4|7 | 4 41754 M8 X1 B|9]4|70]/18|62|30| 6| 5/8 |6
41729 M5 x0.8 1C| 6| 2|60[10/55|22|39]45| 7 | 4 41755| M8 x0.75 |1C| 7 | 4 |62|10|62|20| 6| 5/ 8| 6
41730 M5 x0.8 1C| 7 | 2 |60[10/55|22|39|45| 7 | 4 41756 M8 x0.75 1C| 8 |4 |62|10(6:2|20| 6] 5|/ 8|6
41731 M5 x0.8 1C| 8| 2 |60|10|55|22|39|45|7 | 4 41757 M8 X0.75 |1C| 9 | 4 |62|10|62|20| 6| 5|8 | 6
02107, M5 x0.8 B|6|2|60|10|65|22|39|45|7 | 4 41758 M8 x0.75 B|7|4|62[10|62|20| 6| 5/ 8 | 6
02108 M5 x0.8 B|7|2|60|10|65|22|39|45|7 | 4 41759| M8 Xx0.75 B|8|4|62[10|62|20] 6| 5|8 | 6
02109| M5 x0.8 B|8|2|60|10|565|22|39|45|7 | 4 41760 M8 x0.75 B|9|4|62]10|62|/20] 6] 5/8 |6

P REAFK Continued to next page



V=LA ITLYB seamless TAFLET

HE:HSSE FEYUE:TICN

Tap material Surface treatment

@ A—KILRUHA B3] (Unit) : mm

747hNo, O Bt¥EE Rk kA (mm) Dimensions s | 7474 No. 12243 B[Rk FPRTE (mm) Dimensions \;m;gﬁ

ltemNo.| Nominal size | 2c |Limit|Type| L | 2 |Ds| en|Dn| K | gk [lewe[ [ltemNo.| Nominal size |&c [Limit|Type| | | 2 |Ds| en|Dn| K | 2k |0lgoe ga
41761 M9 x1.25 1C| 7 | 4|72|18| 7|30|6.8|55| 8 | 6 41802 M14 x2 1C| 9 | 4 |88|26|105|/42(103| 8|11| 6 J::U
41762 M9 x1.25 1C| 8|14|72|18| 7|30|6.8|55| 8 | 6 41803 M14 x2 1C|11| 4 |88|26|105|/42(103| 8(11| 6 'jl‘s
41763 M9 x1.25 1C| 914 |72|18| 7|30|68|55| 8 | 6 41804 M14 x2 B |9 |4 |88|26|105/42|103] 8|11| 6 9%
41764 M9 x1.25 B|7|4|72|18| 7|30|6.8|55| 8 | 6 41805 M14 x2 B |11| 4 |88|26|105|42|103] 8|11| 6 ‘y_|
41765 M9 x1.25 B|8|4|72|18| 7|30|6.8|55| 8 | 6 41806 M14 x1.5 1C| 8 | 4 |88|19]105|42|103| 8|11| 6 7)
41766 M9 Xx1.25 B|9|4|72|18| 7|30|6.8|55| 8 | 6 41807 M14 x1.5 1C|10| 4 |88|19|105|42(103| 8(11| 6 - 8
41767 M10 x1.5 1C| 7| 4 |75|19| 7|32|68|55| 8 | 6 41808 M14 x1.5 B | 8|4 |88|19(105/42(103| 8|11| 6 4 3
41768| M10 x1.5 1C| 8|14 |75|19| 7|32|68|55| 8 | 6 41809 M14 x1.5 B |10| 4 |88|19(105(42(103| 8|11| 6 B '|>i|
41769| M10 x1.5 1C| 9|1 4|75]|19| 7|32|6.8|55| 8 | 6 47518 M16 x2 1C| 9 | 4 |95|26|125/45(123| 10| 13| 6 v E
18037| M10 X1.5 B|7|4|75|19| 7|32|68|55| 8 | 6 47519 M16 x2 1C|11| 4 |95 |26 |125|45(123| 10| 13| 6 t:‘,
18038| M10 x1.5 B|8|4|75|19| 7|32|68|55|8 | 6 47520 M16 x2 B |9 |4 |95|26(125/45(123| 10| 13| 6

18039| M10 x1.5 B|9|4|75|19| 7|32|68|55|8 | 6 47521 M16 x2 B |11| 4 |95|26(125|45(123| 10| 13| 6 ﬂ;’_|
41772 M10 x1.25 1C| 7 | 4 |75|19| 7|32|68|55| 8 | 6 47522 M16 x1.5 1C| 8 | 4 |95|19(125|45(123|10|13| 6 o /‘>
41773 M10 x1.25 1C| 8|14 |75|19| 7|32|68|55| 8 | 6 47523 M16 x1.5 1C|10| 4 |95|19|125|45(123| 10| 13| 6 4*2
41774 M10 x1.25 1C| 914 |75|19| 7|32|68|55| 8 | 6 47524 M16 x1.5 B |8 |4 |95|19(125|45(123| 10| 13| 6 T_rCT)
02116 M10 x1.25 B|7|4|75|19| 7|32|6.8|55| 8 | 6 47525 M16 x1.5 B |10| 4 |95|19(125|45(123| 10| 13| 6 3£—|
02117 M10 x1.256 B|8|4|75|19| 7|32|6.8|/55| 8 | 6 47526 M18 x2.5 1C|10| 4 [100|33 |14 |48(138| 11|14 | 6 ﬁ
02118| M10 x1.26 B|9|4|75|19| 7|32|68|55|8 | 6 47527 M18 x2.5 1C|12| 4 |100/33 |14 |48(138|11|14| 6

41775 M10 X1 1C| 7|1 4|70]19| 7|32|6.8|55| 8 | 6 47528 M18 x2.5 B |10| 4 [100/33 |14 |48(138|11|14| 6 U’f/
41776 M10 X1 1C| 8|14 |70|19| 7|32|68|55| 8 | 6 47529 M18 x2.5 B |12| 4 [100/33 |14 [48(138|11|14| 6 8 I
41777 M10 X1 1C| 914 |70|19| 7|32|68|55| 8 | 6 47530 M18 x1.5 1C| 9 | 4 |95|19|14 |45|138|11|14| 6 %.L\
40066| M10 x1 B|7|4|70|19| 7|32|68|55|8 | 6 47531 M18 x1.5 1C|11] 4 |95|19|14 |45|138|11|14| 6 @ IJ
41778 M10 X1 B|8|4|70|19| 7|32|6.8|55| 8 | 6 47532 M18 x1.5 B |9 |4|95|19|14 |45(138|11|14| 6 )_>'
41779 M10 X1 B|9|4|70|19| 7|32|68|55| 8 | 6 47533 M18 x1.5 B |11]| 4 |95|19 (|14 |45(138|11|14| 6 ﬁé
41780 M11 x1.5 B |10| 4 |80|19| 8|38|78| 6/ 9 |6 47756 M18 X1 1C| 8 | 4 |80[18|14 |30(138|11|14| 6 =
41781 M11 X1 B|9|4|70|18| 8|30|78| 6|9 |6 47757 M18 x1 1C|10| 4 |80|18|14 |30(138|11|14| 6 7
41782 M12 X1.76 1C| 8 |4 |82|23|85|38|83|65| 9 | 6 47534 M18 x1 B|8|4|80|18|14 |30(138|11|14| 6 I;;
41783] M12 X1.76 1C|10| 4 |82|23|85|38|8.3|65| 9 | 6 47535 M18 x1 B |10| 4 |[80]18 |14 |30(138|11|14| 6 I\
41784 M12 X1.756 1C|12| 4 |82|23|85|38|83|65| 9 | 6 47536 M20 x2.5 1C|10| 4 105|33 |15 |50/148|12|15| 6

41785 M12 x1.75 B |8 |4 |82|23|85|38|83|65|9 |6 47537 M20 x2.5 1C|12| 4 105|33 |15 |50|148|12|15| 6

40104 M12 x1.75 B |10| 4 |[82|23|85|38|8.3|65| 9 | 6 47538 M20 x2.5 B |10| 4 105|33 |15 |50(148| 12| 15| 6

41786 M12 x1.75 B |12| 4 |82|23|85|38|83|65| 9 | 6 47539 M20 x2.5 B |12]| 4 105/33 |15 |50(148| 12| 15| 6

41787 M12 x1.5 1C| 814 |82|19|85|38|83|65| 9 | 6 47540 M20 x1.5 1C| 9 | 4 |95|19|15 |45|148|12|15| 6

41788| M12 X1.5 1C|10| 4 |82]19|85|38|8.3|65| 9 | 6 47541 M20 x1.5 1C|11] 4 |95|19|15 |45|148|12|15]| 6

41789| M12 X1.5 1C|12] 4 |82]19|85|38|83|65| 9 | 6 41834 M20 X1.5 B|9|4(95|19]|15 |45(148|12|15| 6

41790 M12 x1.5 B|8|4(82|19|85|38|83|65|9 | 6 41835 M20 X1.5 B |11| 4 [95|19|15 |45[148|12|15| B

40017| M12 x1.5 B |10| 4 |82|19|85|38|83|65| 9 | 6

41791 M12 x1.5 B |12| 4 |[82]19|85|38|83|65| 9 | 6

41792 M12 x1.25 1C| 814 |80|19|85|38|83|65| 9 | 6

41793| M12 x1.25 1C|10] 4 |80|19|85|38|8.3|65| 9 | 6

41794 M12 X1.25 1C|12| 4 |80]19|85|38|8.3|65| 9 | 6

41795 M12 X1.25 B|8|4(80|19|85|38|83|65|9 | 6

41796 MI12 x1.25 B |10| 4 |80|19|85|38|83|65| 9 | 6

40105| M12 x1.26 B |12| 4 |80|19|85|38|83|65| 9 | 6

41797 M12 X1 1C| 714 ]70[18|85|30|8.3|65| 9 | 6

41798 M12 X1 1C| 9 | 4|70|18|85|30|8.3|65| 9 | 6

41799 M12 X1 1C|11]4]70[18|85|30|8.3|65| 9 | 6

41800 M12 x1 B|7|4|70/18|85|30|8.3|65| 9 | 6

40106| M12 x1 B|9|4|70/18|85|30|8.3|65| 9 | 6

41801 Mi12 x1 B |11]4]70|18|85|30|8.3|65| 9 | 6

- FEEEOLCF2ROQ UESERDHEEREETY, (P.2285R)
- The recommended tap limit in Ccorresponds to JIS Class 2 internal thread standard. (see page 22)

* BYEEREE. 1C (1) - B (2WL) DBEN GO FT .

(KRR | FREcERs | SRR | SEEERR BERGRE A7 VVAR| TIVIZ0L | TIISA0AN BRSANAL R =il | =EHEY

Low Carbon Steels | Medium Carbon Stegls | High Carbon Steels | Cold Rolled Shest Steels | Structual Alloy Steels | Stainless Steels| Aluminum | Aluminum Diecasting | Zinc Diecasting Copper Brass Brass Casting
S10C 522C S45C spC scM AC
SEhE S4s § SPH SNCN Sus AL ADC ZDC Cu Bs BsC

© O O O O O © © © O O ©)






